Compare the two pictures. Find the differences.
Choose from the words in the box

button, footprints,bird, berries, window

There are no of the dog in the snow.
The middle ___ofthe snowman is missing.
The in the right picture is red, but it is blue on the left.
There are no on the hat of the snowman in the left picture.

Use the comparative form of the appropriate adjectives.
In the left picture:
The smoke coming from the chimney is (small/ big).
The end of the dog's tail is _ __(brown/ white).
The pine trees on the left side of the picture are (tall/ short).
The paws of the dogare (light/ dark)
The snowfall is (light/ heavy).
The window in the attic is (dark/ light).
The broom has (long, short) handle.
The carrot nose of the snowman is (short/long).
Thebroomhas___ (many/ few) ribbons.




